( 2 points)
Q.1
Name the following compounds
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( 3 points)
Q.2
Which of the following choices gives the correct order for increasing basicity (least basic first)?
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A) I < II < III

B) II < I < III

C) II < III < I

D) III < II < I

E) III < I < II

( 3 points)

Q.3
Which one of the following compounds would be the weakest base?

A) p-methoxyaniline

B) p-nitroaniline

C) piperidine

D) hexylamine

E) dipropylamine

( 20 points)
Q.4
Predict the major organic product(s) for each of the following reactions.
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( 4 points)

Q.5
 Write a detailed mechanism for the following transformation:
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(10 points)

Q.6
Provide all the reagents needed for the following conversions which may involve one or more steps:
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(8 points)

Q.7
Synthesize each of the following compounds from the suggested starting material.
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